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Section : Part-A-General Intelligence and Reasoning

Q.1

Ans

Which answer figure will complete the pattern in the question figure? (rotation is not allowed)
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Q.2

Arrange the following words in alphabetical order:
1. FRAGRANCE

2. FRUITFUL

3. FRUGAL

4. FRIGHTEN

5. FROSTY

Ans X' 1.1,5.4.3.2

<2 14523

X3 1.4352

4 1,4,53,2

Q3 T« U means 'T is the mother of U

'"T+U' means 'T is the sister of U
'T = U means 'T is the daughter of U’
'"T - U' means 'T is the wife of U'

How is D related to A in the expression'A* B+~ C+D"7?

Ans X 1. Father
X 2. Brother
X< 3 Son
+ 4. Husband

Q4 Which two numbers should be interchanged to make the given equation correct?

8x4-18+2+16=063
Ans X 1. 8 and 4

X2 ]6and 18

+ 3 l6and 8

X4 2and 4

Q5 In the following question, select the missing number from the given series.

344, 348, 357, 2, 398, 434
Ans X 1. 380

X2 370

<3 373

X 4. 371
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Q6 Which of the following letter will replace the question mark (?) in the given series?
HILNP?
Ans X1.0
X2 Q
3 R
X4 T
Q7

Ans X102

s2 6
X330
x45

In a certain code language, ‘MBTSA’ is coded as *26095°, ‘TDAN" is coded as *5328°, “YZBN" is coded as ‘0713".
What can be the code for *M” in that code language?

Q.8

Which of the following groups of letters when sequentially placed from left to right will complete the given series?

dddeeeff dddeeeff dddeeefffdddee ff

Ans X 1. fdef
X 2. fded
3. ffef
X 4. edfd

Ans

Q.9

Select the figure that will replace the question mark (?) in the following figure series.

LJ

LL]

LLL]

<
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Q10 1p the following question, select the related letters from the given alternatives.

OTYT: QVAL :: DGKX : ?
Ans s 1. FIMZ

X 2. JIDK

~< 3. SUTL

X 4. JKMP

QM1 Which of the following numbers will replace the question mark (?) in the given series?
45,54, 63,7, 81,90
Ans 1. 72
X2 68
X370
X 4 58

Q12 n the following question, select the related letter pair from the given alternatives.

BP:BO ::?
Ans X 1. OG:KB
X2 NB:JX
X3 EZ:BV
4 LY : LX

Q13 On folding the given die, which letter will be opposite to the letter 'c'?

Ans o 1.
< 2.
< 3.
X 4.

o T o o
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Q.14 Three Statements are given followed by two conclusions numbered I and II. Assuming the statements to be true, even if
they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statement I: Some shirts are cotton.
Statement II: All cotton are clothes.
Statement ITI: Some clothes are not trousers.
Conclusion I: Some shirts are trousers.
Conclusion II: Some cotton are not shirts.

Ans & 1. Neither conclusion I nor II follows
X 2. Only conclusion I follows
< 3. Both conclusions I and II follow
X 4. Only conclusion IT follows

Q15 Two positions of a dice are given below. What will come on the face opposite to the face containing ‘L’ on it?

Ans 1 R
X2 A
X3 2
X4 3

Q.16 Five friends P, Q. R. S, and T are sitting around a circular table facing away from the centre. S is sitting to the
immediate right of R. P sits exactly between Q and T. Q sits to the immediate left of R. Who sits to the immediate right
of P?

Ans X1 R
X2 T
X3S

74 Q

Q17 By Interchanging the given two numbers (not digits) which of the following equation will be NOT correct?
Sand 8

Ans X 1. 5x7+8-3=58
X2 5+8x3-9=14

#3 §-5%x2+6=-3
K4 5-8+T7=10

Q.18 I a certain code language, if AMBER is coded as 36, MAGENTA is coded as 57, then what will PURPLE be coded as?

Ans 184
X 2 67
X3 76
# 4. 89
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Q19 In the following question, select the figure which can be placed at the sign of question mark (?) from the given
alternatives.
e’ , e, S
T T D =
Ans
| A(
T~
x 2' ‘ ((<
TS
| A
=
X 4 A (
~
Q.20  Eight boys A, B, C. D, E, F, G and H are sitting around a circular table facing opposite to the centre (not necessarily in
the same order). B is fourth to the left of H. Only two boys sit between F and B. E is second to the left of D. F is second
to the left of C. C is an immediate neighbour of G. C is not an immediate neighbour of B. Who is sitting on the
immediate left of E?
Ans X1 H
v2. G
X3 B
X4 A
Q1 Which of the following articles of the Indian Constitution mentions oath or affirmation by the Governor?
Ans X 1. Article 157
« 2. Article 159
X 3. Article 161
X 4. Article 155
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Q2 YWhat is the total literacy rate of Bihar according to the 2011 census of India?
Ans X 1. 65.8 percent

2 2. 63.8 percent
« 3. 61.8 percent
X 4. 66.8 percent

Q.3 The Rowlatt Act of 1919 granted the British colonial government the power to arrest and detains Indians without trial.
Who was the British Viceroy of India at that time?

Ans X 1. Lord Dalhousie
X 2. Lord Irwin
+ 3. Lord Chelmsford
X 4. Lord Curzon

Q4 Which state is famous for Dandiva-ras dance?

Ans X 1. Odisha
X 2. Bihar
X 3. Kerala
« 4. Gujarat

Q.5 Under the Deen Dayal Upadhyaya Grameen Kaushalya Yojana (DDU-GKY), in Chhattisgarh, how many candidates

have been trained as on August 01, 2023?
Ans X' 1. 30,502

/< 2. 85,208

X 3. 45,825

« 4. 61,199

Q.6 The Palacolithic period extends from 2 million years ago to about 12,000 years ago. This long stretch of time is divided

into the Lower, Middle and Upper Palaeolithic. This long span of time covers percent of human history.

Ans X 1. g0
+ 2. 99
X3 59
X479

Q.7 Which of the following five year plan of India aimed at accelerating food grain production, increasing employment
opportunities & raising productivity with focus on *food. work & productivity’?

Ans X 1. Sixth Five year Plan
« 2. Seventh Five year Plan
X 3. Eighth Five year Plan
X 4. Ninth Five year Plan
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Q.8

In humans sound is produced by voice box. What is the other name used for voice box?
Ans X 1. Pharynx

X 2. Lymph Nodes

Z 3. Wind pipe

4. Larynx

Q9 WWhich sport is played by the Indian sportsperson Jasprit Bumrah?

Ans X 1. Hockey

« 2. Cricket
X 3. Volleyball

X 4. Football

Q.10 choreographed famous song ‘Kahe Chhed Mohe’ from the movie Devdas and ‘Mohe Rang Do Laal’ from
Bajirao Mastani.

Ans 1. Pandit Birju Maharaj
X 2. Uday Shankar

A 3. Rukmini Devi
X 4. Kelucharan Mohapatra

Q11 Read the following about Liabilities.
A. Liabilities for any firm are its debts or what it owes to others.
B. For a bank, the main liability is the deposits which people keep with it.
Identify the CORRECT statement/statements.

Ans & 1. Both A and B
X 2. Neither A nor B
X 3. Onlyv B
X 4. Only A

Q12 Which of the following sports is played by Mithali Raj?
Ans X 1. Hockey
X 2. Volleyball

# 3. Badminton
" 4. Cricket

Q13 Which of following tribes celebrates the Rongker festival?
Ans X 1. Dimsa

X 2. Tiwa

X 3. Khasi

« 4 Karbi
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Q14 Ministry of Labour & Employment, Government of India launched e-Shram portal (eshram.gov.in) on 26th August

Ans X' 1. 2022
« 2. 2021
X 3. 2020
X 4. 2023

Q15 How is the poverty line in India typically determined?

Ans X 1. Access to healthcare facilities
X 2. Religious affiliation
« 3. Levels of income and consumption

X 4. Quality of education

Q16 The election of the Constituent Assembly of India was held in

Ans 1. Tuly 1946
X 2. April 1946
X 3. March 1946
X 4. May 1946

Q17 In 2023, which Indian-origin scientist won the Spinoza Prize, also known as the Dutch Nobel Prize?

Ans X1 D. Sivananda Pai
X 2. Usha Barwale-Zehr
« 3. Joyeeta Gupta

X 4. Partha Pratim Majumder

Q18 Read the following about the Green Revolution in India.
A. The revolution was launched to address India’s hunger crisis during the second Five Year Plan.
B. The long term objectives included overall agriculture modernization based on rural development, industrial
development; infrastructure, raw material etc.
Identify the CORRECT statement/statements.

Ans & 1. Both A and B
X 2. Neither A nor B
X 3. Only A
X 4. Only B

Q19 Each game in table tennis consists of how many points?

Ans X1_ 12
2 11
X3 14
x4 21
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Q20 yWhich Indian has won two Oscars in the same year?
Ans 1. AR Rahman

X 2. Gulzar

X 3. MM Keeravani

X 4. Resul Pookutty

Section : Part-C-Elementary Mathematics

Q1 The marked price of an article is 60 percent more than its cost price. If the article is sold for Rs. 300 after offering a

discount of Rs. 20, then what will be the profit percentage?
Ans % 1. 45 percent
X 2. 60 percent
# 3. 40 percent
« 4. 50 percent

Q.2 Average of five numbers is 75. The average of first two numbers is 6 times of the average of last three numbers. What is
the sum of first two numbers?

Ans X 1. 260
X 2. 340
X 3. 315
v 4300

Q.3 Ifa certain sum of money becomes thrice of itself in 7 vears 3 months at simple interest, then what will be the annual
rate of interest?

Ans X 1. 30.23 percent
2 2. 25.68 percent
X 3. 29.27 percent
o 4. 27.58 percent

Q4 Find the area of an equilateral triangle with a side length of 10 cm.

Ane K 2843 eme
X2 1843 em?
X3 2243 em?
¥ 4 25V3 e

Q5 A pair of shoes is sold for 2960 after a discount of 25%. Find the marked price.

Ans 1 Rs. 1280
X 2. Rs. 1240
# 3. Rs. 1200
X 4 Rs. 1220
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Q.6 Three numbers are in the ratio of 3 : 5 : 8. If the sum of the largest and the smallest number is 8800, then what is the

difference of the largest and the smallest number?
Ans X 1. 2400
X 2. 1600
« 34000
X 4. 800

Q7 What is the value of 9 of 21 x (3 + 4)?

Ans X 1. 1763
X 2. 1533
3. 1323
X 41423

Q8 A shirt was sold for $40, incurring a loss of 20%. Find the cost price.
Ans X 1. 855

¥ 2. 350

X 3. 335

X 4. 830

Q9  If price is decreased by 24 percent, then by how much percentage consumption should be increased. so that the

expenditure remains the same?
Ans X 1. 25.5 percent

X 2. 26.5 percent

2 3. 28.5 percent

« 4. 31.5 percent

Q.10 The price of a bike is firstly decreased by 25 percent and then increased by 50 percent. What is the percentage increase
in the price of bike?

Ans X 1. 20 percent
X 2. 25 percent
« 3. 12.5 percent
X 4. 10 percent

Q11 A bike moving at a speed of 45 km/hr covers certain distance in 4 hours. If its speed is reduced by 20 knmv/hr, in what

time it will cover the same distance?

Ans X 1. 460 minutes
« 2. 432 minutes
X 3. 478 minutes
#4446 minutes
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Q12 A person loses 35 percent on selling a book for Rs. 2860. At what price should he sell the book to earn a profit of 20

percent?

Ans X 1. Rs. 5460
X 2. Rs. 6460
¥ 3. Rs. 5280
X 4. Rs. 5540

Q13 M and N together can complete a work in 40 days. M is 50 percent more efficient than N. M alone can complete the

same work in how many days?
Ans X 1. 100/9 days
X 2. 210/11 days
2 3. 100/7 days
« 4. 200/3 days

Q.14 Prince is thrice as good a workman as Raman and therefore is able to finish a work in 28 days less than Raman. In how

many days can they together complete the same work?
Ans X 1. 35 days
X 2. 30 days
« 3. 10.5 days
X 4. 42 days

Q15 Findthe LCM of 1.2, 1.8, 2, 2.5.
Ans X 1. 120

X2 30

« 3. 90

X 4. 25

Q.16 Three numbers A, B and C are in the ratio of 5 : 4 : 3 respectively. If C is 18 less than the sum of A and B. then what is
the value of B?

Ans K1, 18
2 12
X3 15
X490

Q17 WWhat is the value of 444 + 2 + 4] x 8 — 26 x 3?
Ans 1472

X2 452

X3 462

X4 482
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Q.18 The average of 36 numbers is 50. If we subtract a number ‘T* from each number, then the average becomes 27. What is
the value of T?

Ans o 1. 23
X2 27
X3 24
X4 22

Q19 At what rate per annum will Z 33,000 vield a compound interest of 31,680 in 2 years interest being compounded
yearly?
Ans X1 309
X 2. 50%
X 3. 55%
4 40%

Q20 1f the number 34564A is divisible by 11, then what is the value of A?
Ans g1 2
X2 3
X3 7
X4 6

Section : Part-D-English

Q1 Four words are given, out of which only one word is spelt correct. Choose the correct spelt word.

Ans X 1. PERCIEVE
X 2. OUTRAGOUS
X 3. PLAGERIZE
« 4 MEMENTO

Q2 Choose the word that is opposite in meaning to the given word.
Arrival

Ans X' 1. Genesis
X< 2. Amass

« 3. Departure
X 4. Inception

Q3 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Visitors to Chernobyl are advised not to touching the dogs.
Ans X 1. Visitors to Chernobyl

# 2. are advised not to
# 3. No error

« 4. touching the dogs.
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Q4 Select the most appropriate meaning of the given idiom.

Lend an ear
Ans 1. To listen closely.

X 2. To go to remote places.
X 3. Impossible task

X 4. To lend something important.

Q5 Select the most appropriate word to fill in the blank.

The Internet is an resource for teachers.
Ans 1. invaluable

X 2. antique

X 3. auspicious

X 4. inimical

Q6 Choose the most appropriate synonym of the underlined word.

Some depended on small donations, others on the benevolence of wealthy patrons.
Ans X 1. Divinity

X 2. Harshness

X 3. Cruelty

+ 4 Kindness

Q.7 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
To prevent boredom and keep it away, we need to find solutions at home that will provides lasting meaning and

challenge to our lives.

Ans 1 we need to find solutions at home that will provides
X 2. To prevent boredom and keep it away,
X 3. lasting meaning and challenge to our lives.

X 4. No error

Q8 Find the part of the given sentence that has an error in it. If there is no error, choose *No error’.

You can learn about the well ways to make money.

Ans 1. about the well
X 2. You can learn

X 3. ways to make money.

# 4. No error
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Q9 Select the most appropriate option for the given blank.

Please quiet, everyone; the principal will be here anytime.

Ans X1 make
X 2. set
X 3. have
« 4. keep

Q10 Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.

He is the director’s favourite boy.
Ans 1 Blue eyed boy
X 2. Break a leg

X 3. Above board
X 4. Good old boy

Q11 Improve the underlined part of the sentence. Choose ‘No improvement” as an answer if the sentence is grammatically

correct.

I can’t getting my wife to go swimming.
Ans 1 getmy

X 2. No improvement

X 3. gets my

X4 getl

Q12 gSelect the incorrectly spelt word from the given sentence.

I am studying about insects in zoology, and I have learned many things about butterflys.

Ans X 1. learned

« 2. butterflys

/< 3. insects
X 4. studying

Q.13 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if the sentence is grammatically

correct.

Their dog chewed in the furniture.
Ans X 1. No improvement

X 2. chewing on

# 3. chew on

« 4 chewed on
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Q.14

Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if the sentence is grammatically
correct.

I wheeled a recycles bin to the curb.

Ans X 1. No improvement
X 2. recycling bins
« 3. recycling bin
X 4. recycled bins
Q.15

Choose the most appropriate antonym of the underlined word.

Many of her students live in two- or three-bedroom apartments with families of up to eight people, creating an
environment rife with distractions.

Ans X 1. alive
X 2. replete
+ 3. void
< 4. thick

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

The deep depression over the west-central Bay of Bengal is likely to (1) into a cyelonic storm by November 17

morning, said Uma Shankar Das. senior scientist in India Meteorological Department’s Bhubaneswar regional centre.
Under the (2) of the system, heavy to moderate rain may occur in some parts of Odisha. (3)

to sources.
Paddy farmers in Odisha have already been suffering from moisture stress due to (4)

rainfall in Ganjam and
Gajapati districts, while pest attacks have been reported in western Odisha districts. Unseasonal rains at the time of the
harvest will (5) all hopes of a successful crop, said a farmer.

SubQuestion No : 16

Q16 Select the most appropriate option for blank (1)
Ans X 1. manipulate

X 2. plus

X 3. derive

« 4. intensify
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Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

The deep depression over the west-central Bay of Bengal is likely to (1) into a cyclonic storm by November 17

morning, said Uma Shankar Das, senior scientist in India Meteorological Department’s Bhubaneswar regional centre.
Under the (2) of the system, heavy to moderate rain may occur in some parts of Odisha, (3)

to sources.
Paddy farmers in Odisha have already been suffering from moisture stress due to (4)

rainfall in Ganjam and
Gajapati districts, while pest attacks have been reported in western Odisha districts. Unseasonal rains at the time of the

harvest will (5) all hopes of a successful crop, said a farmer.

SubQuestion No : 17

Q17 Select the most appropriate option for blank (2)

Ans X 1. toll
X 2. guidance
X 3. hospitality

" 4. influence

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

The deep depression over the west-central Bay of Bengal is likely to (1) into a cyclonic storm by November 17

morning, said Uma Shankar Das, senior scientist in India Meteorological Department’s Bhubaneswar regional centre.

Under the (2) of the system, heavy to moderate rain may occur in some parts of Odisha, (3)

to sources.
Paddy farmers in Odisha have already been suffering from moisture stress due to (4)

rainfall in Ganjam and
Gajapati districts, while pest attacks have been reported in western Odisha districts. Unseasonal rains at the time of the
harvest will (5) all hopes of a successful crop, said a farmer.

SubQuestion No : 18

Q18 Select the most appropriate option for blank (3)
Ans X 1. alike
X 2. stated

« 3. according

< 4. congruent

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

The deep depression over the west-central Bay of Bengal is likely to (1) into a cyclonic storm by November 17

morning, said Uma Shankar Das, senior scientist in India Meteorological Department’s Bhubaneswar regional centre.
Under the (2) of the system, heavy to moderate rain may occur in some parts of Odisha, (3)

to sources.
Paddy farmers in Odisha have already been suffering from moisture stress due to (4)

rainfall in Ganjam and
Gajapati districts, while pest attacks have been reported in western Odisha districts. Unseasonal rains at the time of the

harvest will (5) _ all hopes of a successful crop, said a farmer.
SubQuestion No : 19
Q19 Select the most appropriate option for blank (4)
Ans X 1. round

« 2. inadequate

X 3. adept

X 4. plenty
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Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

The deep depression over the west-central Bay of Bengal is likely to (1) into a cyclonic storm by November 17
morning, said Uma Shankar Das, senior scientist in India Meteorological Department’s Bhubaneswar regional centre.
Under the (2) of the system, heavy to moderate rain may occur in some parts of Odisha, (3) to sources.
Paddy farmers in Odisha have already been suffering from moisture stress due to (4) rainfall in Ganjam and
Gajapati districts, while pest attacks have been reported in western Odisha districts. Unseasonal rains at the time of the
harvest will (5) all hopes of a successful crop, said a farmer.

SubQuestion No : 20

Q20 gelect the most appropriate option for blank (5)
Ans X 1. piece

X 2. form

« 3. shatter

X 4. clasp

Section : Part-D-Hindi
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TIHSE T § =UFd T B
e #g 1F F FLA
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** R gre ¥ 3 vafadrd Wsg &1 999 X Rad -IH B Ufd B
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X 2. T
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VP ReRRT e # @hg ST & T U g AT A
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Ans X 3
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Comprehension:

e T 10 e ¥ 5 ee Bis AU MU § SR Ul Rad ®iF & IR fee QU g ST aRi # s @
faehed e ®iH &1 g HaT-

o #ATeg 7 <2 o I TRBR §H1 B U WIEsR (1) B JHIAT R IY (2)___ & &I Sl Fllg
SUR 3Hd vt (3)_ fobar o1 9IS T | I8 SUIeY 2H1aRye 8, Filfds dfch] o] UIgaR R&MH (4)_ Tl g
WA gl UEReFHaA HYRa s N fafim(s) Bl

SubQuestion No : 16

T R (1) P o 9o Iuged fabed &1 9 i
Ans X 1. L&
o 2. Rl

7o agel
X4 TR

Comprehension:
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a0 HATT A 4 b G RBRT db! Bl A0 TeaR (1) Bl GHIET AR IY (2)_ & & ol 9l al,
U W A T (3)____ Toha1 ST 91301 U8 SHIGY ATa=dS ¢, Fifd Sl bl igek Geam H (4)___ WKl gl
¥Edl g UeaR grdl H YR & HI A= (s)_ €l

SubQuestion No : 17
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Comprehension:
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Comprehension:
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v X e
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@3.@
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Comprehension:
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